
[temporal_consistency]
time_step = 1
time_granularity = month

[temporal_consistency_result]
res = err
msg = Temporal inconsistency found. Check log file for details



test05-temporal-consistency:ERROR:2019-12-02 09:45:41,421:Temporal inconsistency detected [t0=2019-04-01 00:00:00 - t1=2019-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:41,528:Temporal inconsistency detected [t0=2019-05-01 00:00:00 - t1=2019-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:41,629:Temporal inconsistency detected [t0=2019-06-01 00:00:00 - t1=2019-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:41,729:Temporal inconsistency detected [t0=2019-07-01 00:00:00 - t1=2019-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:41,868:Temporal inconsistency detected [t0=2019-08-01 00:00:00 - t1=2019-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:41,966:Temporal inconsistency detected [t0=2019-09-01 00:00:00 - t1=2019-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,077:Temporal inconsistency detected [t0=2019-10-01 00:00:00 - t1=2019-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,200:Temporal inconsistency detected [t0=2019-11-01 00:00:00 - t1=2019-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,339:Temporal inconsistency detected [t0=2019-12-01 00:00:00 - t1=2019-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,472:Temporal inconsistency detected [t0=2020-01-01 00:00:00 - t1=2020-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,578:Temporal inconsistency detected [t0=2020-02-01 00:00:00 - t1=2020-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,692:Temporal inconsistency detected [t0=1993-06-01 00:00:00 - t1=1993-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,813:Temporal inconsistency detected [t0=1993-07-01 00:00:00 - t1=1993-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:42,913:Temporal inconsistency detected [t0=1993-08-01 00:00:00 - t1=1993-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,025:Temporal inconsistency detected [t0=1993-09-01 00:00:00 - t1=1993-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,160:Temporal inconsistency detected [t0=1993-10-01 00:00:00 - t1=1993-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,284:Temporal inconsistency detected [t0=1993-11-01 00:00:00 - t1=1993-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,414:Temporal inconsistency detected [t0=1993-12-01 00:00:00 - t1=1993-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,520:Temporal inconsistency detected [t0=1994-01-01 00:00:00 - t1=1994-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,645:Temporal inconsistency detected [t0=1994-02-01 00:00:00 - t1=1994-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,749:Temporal inconsistency detected [t0=1994-03-01 00:00:00 - t1=1994-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:43,863:Temporal inconsistency detected [t0=1994-04-01 00:00:00 - t1=1994-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,017:Temporal inconsistency detected [t0=1994-05-01 00:00:00 - t1=1994-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,113:Temporal inconsistency detected [t0=1994-06-01 00:00:00 - t1=1994-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,238:Temporal inconsistency detected [t0=1994-07-01 00:00:00 - t1=1994-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,326:Temporal inconsistency detected [t0=1994-08-01 00:00:00 - t1=1994-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,429:Temporal inconsistency detected [t0=1994-09-01 00:00:00 - t1=1994-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,525:Temporal inconsistency detected [t0=1994-10-01 00:00:00 - t1=1994-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,614:Temporal inconsistency detected [t0=1994-11-01 00:00:00 - t1=1994-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,742:Temporal inconsistency detected [t0=1994-12-01 00:00:00 - t1=1994-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,848:Temporal inconsistency detected [t0=1995-01-01 00:00:00 - t1=1995-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:44,980:Temporal inconsistency detected [t0=1995-02-01 00:00:00 - t1=1995-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,118:Temporal inconsistency detected [t0=1995-03-01 00:00:00 - t1=1995-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,247:Temporal inconsistency detected [t0=1995-04-01 00:00:00 - t1=1995-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,405:Temporal inconsistency detected [t0=1995-05-01 00:00:00 - t1=1995-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,515:Temporal inconsistency detected [t0=1995-06-01 00:00:00 - t1=1995-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,682:Temporal inconsistency detected [t0=1995-07-01 00:00:00 - t1=1995-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,790:Temporal inconsistency detected [t0=1995-08-01 00:00:00 - t1=1995-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,885:Temporal inconsistency detected [t0=1995-09-01 00:00:00 - t1=1995-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:45,980:Temporal inconsistency detected [t0=1995-10-01 00:00:00 - t1=1995-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,073:Temporal inconsistency detected [t0=1995-11-01 00:00:00 - t1=1995-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,193:Temporal inconsistency detected [t0=1995-12-01 00:00:00 - t1=1995-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,330:Temporal inconsistency detected [t0=1996-01-01 00:00:00 - t1=1996-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,480:Temporal inconsistency detected [t0=1996-02-01 00:00:00 - t1=1996-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,635:Temporal inconsistency detected [t0=1996-03-01 00:00:00 - t1=1996-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,767:Temporal inconsistency detected [t0=1996-04-01 00:00:00 - t1=1996-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:46,914:Temporal inconsistency detected [t0=1996-05-01 00:00:00 - t1=1996-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,027:Temporal inconsistency detected [t0=1996-06-01 00:00:00 - t1=1996-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,135:Temporal inconsistency detected [t0=1996-07-01 00:00:00 - t1=1996-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,301:Temporal inconsistency detected [t0=1996-08-01 00:00:00 - t1=1996-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,402:Temporal inconsistency detected [t0=1996-09-01 00:00:00 - t1=1996-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,502:Temporal inconsistency detected [t0=1996-10-01 00:00:00 - t1=1996-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,602:Temporal inconsistency detected [t0=1996-11-01 00:00:00 - t1=1996-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,731:Temporal inconsistency detected [t0=1996-12-01 00:00:00 - t1=1996-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,842:Temporal inconsistency detected [t0=1997-01-01 00:00:00 - t1=1997-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:47,951:Temporal inconsistency detected [t0=1997-02-01 00:00:00 - t1=1997-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,057:Temporal inconsistency detected [t0=1997-03-01 00:00:00 - t1=1997-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,230:Temporal inconsistency detected [t0=1997-04-01 00:00:00 - t1=1997-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,358:Temporal inconsistency detected [t0=1997-05-01 00:00:00 - t1=1997-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,457:Temporal inconsistency detected [t0=1997-06-01 00:00:00 - t1=1997-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,583:Temporal inconsistency detected [t0=1997-07-01 00:00:00 - t1=1997-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,735:Temporal inconsistency detected [t0=1997-08-01 00:00:00 - t1=1997-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,893:Temporal inconsistency detected [t0=1997-09-01 00:00:00 - t1=1997-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:48,994:Temporal inconsistency detected [t0=1997-10-01 00:00:00 - t1=1997-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,090:Temporal inconsistency detected [t0=1997-11-01 00:00:00 - t1=1997-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,221:Temporal inconsistency detected [t0=1997-12-01 00:00:00 - t1=1997-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,318:Temporal inconsistency detected [t0=1998-01-01 00:00:00 - t1=1998-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,496:Temporal inconsistency detected [t0=1998-02-01 00:00:00 - t1=1998-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,608:Temporal inconsistency detected [t0=1998-03-01 00:00:00 - t1=1998-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,717:Temporal inconsistency detected [t0=1998-04-01 00:00:00 - t1=1998-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,826:Temporal inconsistency detected [t0=1998-05-01 00:00:00 - t1=1998-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:49,944:Temporal inconsistency detected [t0=1998-06-01 00:00:00 - t1=1998-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,066:Temporal inconsistency detected [t0=1998-07-01 00:00:00 - t1=1998-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,187:Temporal inconsistency detected [t0=1998-08-01 00:00:00 - t1=1998-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,311:Temporal inconsistency detected [t0=1998-09-01 00:00:00 - t1=1998-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,425:Temporal inconsistency detected [t0=1998-10-01 00:00:00 - t1=1998-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,526:Temporal inconsistency detected [t0=1998-11-01 00:00:00 - t1=1998-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,723:Temporal inconsistency detected [t0=1998-12-01 00:00:00 - t1=1998-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,827:Temporal inconsistency detected [t0=1999-01-01 00:00:00 - t1=1999-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:50,934:Temporal inconsistency detected [t0=1999-02-01 00:00:00 - t1=1999-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,030:Temporal inconsistency detected [t0=1999-03-01 00:00:00 - t1=1999-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,132:Temporal inconsistency detected [t0=1999-04-01 00:00:00 - t1=1999-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,263:Temporal inconsistency detected [t0=1999-05-01 00:00:00 - t1=1999-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,436:Temporal inconsistency detected [t0=1999-06-01 00:00:00 - t1=1999-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,529:Temporal inconsistency detected [t0=1999-07-01 00:00:00 - t1=1999-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,634:Temporal inconsistency detected [t0=1999-08-01 00:00:00 - t1=1999-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,737:Temporal inconsistency detected [t0=1999-09-01 00:00:00 - t1=1999-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,855:Temporal inconsistency detected [t0=1999-10-01 00:00:00 - t1=1999-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:51,946:Temporal inconsistency detected [t0=1999-11-01 00:00:00 - t1=1999-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,041:Temporal inconsistency detected [t0=1999-12-01 00:00:00 - t1=1999-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,164:Temporal inconsistency detected [t0=2000-01-01 00:00:00 - t1=2000-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,271:Temporal inconsistency detected [t0=2000-02-01 00:00:00 - t1=2000-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,390:Temporal inconsistency detected [t0=2000-03-01 00:00:00 - t1=2000-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,583:Temporal inconsistency detected [t0=2000-04-01 00:00:00 - t1=2000-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,711:Temporal inconsistency detected [t0=2000-05-01 00:00:00 - t1=2000-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,864:Temporal inconsistency detected [t0=2000-06-01 00:00:00 - t1=2000-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:52,970:Temporal inconsistency detected [t0=2000-07-01 00:00:00 - t1=2000-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,104:Temporal inconsistency detected [t0=2000-08-01 00:00:00 - t1=2000-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,216:Temporal inconsistency detected [t0=2000-09-01 00:00:00 - t1=2000-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,311:Temporal inconsistency detected [t0=2000-10-01 00:00:00 - t1=2000-10-31 00:00:00] = 2592000.0 sec



test05-temporal-consistency:ERROR:2019-12-02 09:45:53,547:Temporal inconsistency detected [t0=2000-12-01 00:00:00 - t1=2000-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,655:Temporal inconsistency detected [t0=2001-01-01 00:00:00 - t1=2001-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,776:Temporal inconsistency detected [t0=2001-02-01 00:00:00 - t1=2001-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:53,902:Temporal inconsistency detected [t0=2001-03-01 00:00:00 - t1=2001-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,010:Temporal inconsistency detected [t0=2001-04-01 00:00:00 - t1=2001-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,114:Temporal inconsistency detected [t0=2001-05-01 00:00:00 - t1=2001-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,233:Temporal inconsistency detected [t0=2001-06-01 00:00:00 - t1=2001-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,351:Temporal inconsistency detected [t0=2001-07-01 00:00:00 - t1=2001-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,459:Temporal inconsistency detected [t0=2001-08-01 00:00:00 - t1=2001-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,620:Temporal inconsistency detected [t0=2001-09-01 00:00:00 - t1=2001-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,792:Temporal inconsistency detected [t0=2001-10-01 00:00:00 - t1=2001-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:54,970:Temporal inconsistency detected [t0=2001-11-01 00:00:00 - t1=2001-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,093:Temporal inconsistency detected [t0=2001-12-01 00:00:00 - t1=2001-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,249:Temporal inconsistency detected [t0=2002-01-01 00:00:00 - t1=2002-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,390:Temporal inconsistency detected [t0=2002-02-01 00:00:00 - t1=2002-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,555:Temporal inconsistency detected [t0=2002-03-01 00:00:00 - t1=2002-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,728:Temporal inconsistency detected [t0=2002-04-01 00:00:00 - t1=2002-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,829:Temporal inconsistency detected [t0=2002-05-01 00:00:00 - t1=2002-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:55,926:Temporal inconsistency detected [t0=2002-06-01 00:00:00 - t1=2002-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,041:Temporal inconsistency detected [t0=2002-07-01 00:00:00 - t1=2002-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,219:Temporal inconsistency detected [t0=2002-08-01 00:00:00 - t1=2002-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,324:Temporal inconsistency detected [t0=2002-09-01 00:00:00 - t1=2002-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,433:Temporal inconsistency detected [t0=2002-10-01 00:00:00 - t1=2002-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,534:Temporal inconsistency detected [t0=2002-11-01 00:00:00 - t1=2002-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,680:Temporal inconsistency detected [t0=2002-12-01 00:00:00 - t1=2002-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,790:Temporal inconsistency detected [t0=2003-01-01 00:00:00 - t1=2003-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:56,933:Temporal inconsistency detected [t0=2003-02-01 00:00:00 - t1=2003-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,053:Temporal inconsistency detected [t0=2003-03-01 00:00:00 - t1=2003-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,170:Temporal inconsistency detected [t0=2003-04-01 00:00:00 - t1=2003-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,286:Temporal inconsistency detected [t0=2003-05-01 00:00:00 - t1=2003-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,418:Temporal inconsistency detected [t0=2003-06-01 00:00:00 - t1=2003-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,520:Temporal inconsistency detected [t0=2003-07-01 00:00:00 - t1=2003-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,618:Temporal inconsistency detected [t0=2003-08-01 00:00:00 - t1=2003-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,722:Temporal inconsistency detected [t0=2003-09-01 00:00:00 - t1=2003-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,839:Temporal inconsistency detected [t0=2003-10-01 00:00:00 - t1=2003-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:57,984:Temporal inconsistency detected [t0=2003-11-01 00:00:00 - t1=2003-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,093:Temporal inconsistency detected [t0=2003-12-01 00:00:00 - t1=2003-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,191:Temporal inconsistency detected [t0=2004-01-01 00:00:00 - t1=2004-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,302:Temporal inconsistency detected [t0=2004-02-01 00:00:00 - t1=2004-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,407:Temporal inconsistency detected [t0=2004-03-01 00:00:00 - t1=2004-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,524:Temporal inconsistency detected [t0=2004-04-01 00:00:00 - t1=2004-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,626:Temporal inconsistency detected [t0=2004-05-01 00:00:00 - t1=2004-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,739:Temporal inconsistency detected [t0=2004-06-01 00:00:00 - t1=2004-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,835:Temporal inconsistency detected [t0=2004-07-01 00:00:00 - t1=2004-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:58,978:Temporal inconsistency detected [t0=2004-08-01 00:00:00 - t1=2004-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,092:Temporal inconsistency detected [t0=2004-09-01 00:00:00 - t1=2004-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,190:Temporal inconsistency detected [t0=2004-10-01 00:00:00 - t1=2004-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,304:Temporal inconsistency detected [t0=2004-11-01 00:00:00 - t1=2004-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,475:Temporal inconsistency detected [t0=2004-12-01 00:00:00 - t1=2004-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,574:Temporal inconsistency detected [t0=2005-01-01 00:00:00 - t1=2005-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,667:Temporal inconsistency detected [t0=2005-02-01 00:00:00 - t1=2005-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,766:Temporal inconsistency detected [t0=2005-03-01 00:00:00 - t1=2005-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:45:59,996:Temporal inconsistency detected [t0=2005-04-01 00:00:00 - t1=2005-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,103:Temporal inconsistency detected [t0=2005-05-01 00:00:00 - t1=2005-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,210:Temporal inconsistency detected [t0=2005-06-01 00:00:00 - t1=2005-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,329:Temporal inconsistency detected [t0=2005-07-01 00:00:00 - t1=2005-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,476:Temporal inconsistency detected [t0=2005-08-01 00:00:00 - t1=2005-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,579:Temporal inconsistency detected [t0=2005-09-01 00:00:00 - t1=2005-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,692:Temporal inconsistency detected [t0=2005-10-01 00:00:00 - t1=2005-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,795:Temporal inconsistency detected [t0=2005-11-01 00:00:00 - t1=2005-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:00,925:Temporal inconsistency detected [t0=2005-12-01 00:00:00 - t1=2005-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,064:Temporal inconsistency detected [t0=2006-01-01 00:00:00 - t1=2006-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,210:Temporal inconsistency detected [t0=2006-02-01 00:00:00 - t1=2006-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,316:Temporal inconsistency detected [t0=2006-03-01 00:00:00 - t1=2006-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,482:Temporal inconsistency detected [t0=2006-04-01 00:00:00 - t1=2006-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,594:Temporal inconsistency detected [t0=2006-05-01 00:00:00 - t1=2006-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,694:Temporal inconsistency detected [t0=2006-06-01 00:00:00 - t1=2006-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,807:Temporal inconsistency detected [t0=2006-07-01 00:00:00 - t1=2006-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:01,922:Temporal inconsistency detected [t0=2006-08-01 00:00:00 - t1=2006-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,025:Temporal inconsistency detected [t0=2006-09-01 00:00:00 - t1=2006-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,113:Temporal inconsistency detected [t0=2006-10-01 00:00:00 - t1=2006-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,278:Temporal inconsistency detected [t0=2006-11-01 00:00:00 - t1=2006-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,414:Temporal inconsistency detected [t0=2006-12-01 00:00:00 - t1=2006-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,557:Temporal inconsistency detected [t0=2007-01-01 00:00:00 - t1=2007-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,652:Temporal inconsistency detected [t0=2007-02-01 00:00:00 - t1=2007-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,764:Temporal inconsistency detected [t0=2007-03-01 00:00:00 - t1=2007-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:02,864:Temporal inconsistency detected [t0=2007-04-01 00:00:00 - t1=2007-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,002:Temporal inconsistency detected [t0=2007-05-01 00:00:00 - t1=2007-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,096:Temporal inconsistency detected [t0=2007-06-01 00:00:00 - t1=2007-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,198:Temporal inconsistency detected [t0=2007-07-01 00:00:00 - t1=2007-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,301:Temporal inconsistency detected [t0=2007-08-01 00:00:00 - t1=2007-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,417:Temporal inconsistency detected [t0=2007-09-01 00:00:00 - t1=2007-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,552:Temporal inconsistency detected [t0=2007-10-01 00:00:00 - t1=2007-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,666:Temporal inconsistency detected [t0=2007-11-01 00:00:00 - t1=2007-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,766:Temporal inconsistency detected [t0=2007-12-01 00:00:00 - t1=2007-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,866:Temporal inconsistency detected [t0=2008-01-01 00:00:00 - t1=2008-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:03,960:Temporal inconsistency detected [t0=2008-02-01 00:00:00 - t1=2008-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,087:Temporal inconsistency detected [t0=2008-03-01 00:00:00 - t1=2008-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,216:Temporal inconsistency detected [t0=2008-04-01 00:00:00 - t1=2008-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,333:Temporal inconsistency detected [t0=2008-05-01 00:00:00 - t1=2008-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,460:Temporal inconsistency detected [t0=2008-06-01 00:00:00 - t1=2008-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,558:Temporal inconsistency detected [t0=2008-07-01 00:00:00 - t1=2008-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,679:Temporal inconsistency detected [t0=2008-08-01 00:00:00 - t1=2008-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,796:Temporal inconsistency detected [t0=2008-09-01 00:00:00 - t1=2008-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:04,898:Temporal inconsistency detected [t0=2008-10-01 00:00:00 - t1=2008-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,011:Temporal inconsistency detected [t0=2008-11-01 00:00:00 - t1=2008-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,113:Temporal inconsistency detected [t0=2008-12-01 00:00:00 - t1=2008-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,257:Temporal inconsistency detected [t0=2009-01-01 00:00:00 - t1=2009-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,396:Temporal inconsistency detected [t0=2009-02-01 00:00:00 - t1=2009-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,493:Temporal inconsistency detected [t0=2009-03-01 00:00:00 - t1=2009-03-31 00:00:00] = 2592000.0 sec



test05-temporal-consistency:ERROR:2019-12-02 09:46:05,702:Temporal inconsistency detected [t0=2009-05-01 00:00:00 - t1=2009-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,794:Temporal inconsistency detected [t0=2009-06-01 00:00:00 - t1=2009-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:05,909:Temporal inconsistency detected [t0=2009-07-01 00:00:00 - t1=2009-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,015:Temporal inconsistency detected [t0=2009-08-01 00:00:00 - t1=2009-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,192:Temporal inconsistency detected [t0=2009-09-01 00:00:00 - t1=2009-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,298:Temporal inconsistency detected [t0=2009-10-01 00:00:00 - t1=2009-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,405:Temporal inconsistency detected [t0=2009-11-01 00:00:00 - t1=2009-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,514:Temporal inconsistency detected [t0=2009-12-01 00:00:00 - t1=2009-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,626:Temporal inconsistency detected [t0=2010-01-01 00:00:00 - t1=2010-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,738:Temporal inconsistency detected [t0=2010-02-01 00:00:00 - t1=2010-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,861:Temporal inconsistency detected [t0=2010-03-01 00:00:00 - t1=2010-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:06,970:Temporal inconsistency detected [t0=2010-04-01 00:00:00 - t1=2010-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,118:Temporal inconsistency detected [t0=2010-05-01 00:00:00 - t1=2010-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,217:Temporal inconsistency detected [t0=2010-06-01 00:00:00 - t1=2010-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,312:Temporal inconsistency detected [t0=2010-07-01 00:00:00 - t1=2010-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,399:Temporal inconsistency detected [t0=2010-08-01 00:00:00 - t1=2010-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,554:Temporal inconsistency detected [t0=2010-09-01 00:00:00 - t1=2010-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,650:Temporal inconsistency detected [t0=2010-10-01 00:00:00 - t1=2010-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,746:Temporal inconsistency detected [t0=2010-11-01 00:00:00 - t1=2010-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,840:Temporal inconsistency detected [t0=2010-12-01 00:00:00 - t1=2010-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:07,931:Temporal inconsistency detected [t0=2011-01-01 00:00:00 - t1=2011-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,041:Temporal inconsistency detected [t0=2011-02-01 00:00:00 - t1=2011-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,139:Temporal inconsistency detected [t0=2011-03-01 00:00:00 - t1=2011-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,234:Temporal inconsistency detected [t0=2011-04-01 00:00:00 - t1=2011-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,364:Temporal inconsistency detected [t0=2011-05-01 00:00:00 - t1=2011-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,489:Temporal inconsistency detected [t0=2011-06-01 00:00:00 - t1=2011-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,605:Temporal inconsistency detected [t0=2011-07-01 00:00:00 - t1=2011-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,701:Temporal inconsistency detected [t0=2011-08-01 00:00:00 - t1=2011-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:08,858:Temporal inconsistency detected [t0=2011-09-01 00:00:00 - t1=2011-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,005:Temporal inconsistency detected [t0=2011-10-01 00:00:00 - t1=2011-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,107:Temporal inconsistency detected [t0=2011-11-01 00:00:00 - t1=2011-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,226:Temporal inconsistency detected [t0=2011-12-01 00:00:00 - t1=2011-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,329:Temporal inconsistency detected [t0=2012-01-01 00:00:00 - t1=2012-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,432:Temporal inconsistency detected [t0=2012-02-01 00:00:00 - t1=2012-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,550:Temporal inconsistency detected [t0=2012-03-01 00:00:00 - t1=2012-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,669:Temporal inconsistency detected [t0=2012-04-01 00:00:00 - t1=2012-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,767:Temporal inconsistency detected [t0=2012-05-01 00:00:00 - t1=2012-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:09,880:Temporal inconsistency detected [t0=2012-06-01 00:00:00 - t1=2012-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,003:Temporal inconsistency detected [t0=2012-07-01 00:00:00 - t1=2012-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,117:Temporal inconsistency detected [t0=2012-08-01 00:00:00 - t1=2012-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,237:Temporal inconsistency detected [t0=2012-09-01 00:00:00 - t1=2012-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,341:Temporal inconsistency detected [t0=2012-10-01 00:00:00 - t1=2012-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,472:Temporal inconsistency detected [t0=2012-11-01 00:00:00 - t1=2012-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,612:Temporal inconsistency detected [t0=2012-12-01 00:00:00 - t1=2012-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,712:Temporal inconsistency detected [t0=2013-01-01 00:00:00 - t1=2013-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,810:Temporal inconsistency detected [t0=2013-02-01 00:00:00 - t1=2013-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:10,926:Temporal inconsistency detected [t0=2013-03-01 00:00:00 - t1=2013-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,033:Temporal inconsistency detected [t0=2013-04-01 00:00:00 - t1=2013-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,136:Temporal inconsistency detected [t0=2013-05-01 00:00:00 - t1=2013-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,286:Temporal inconsistency detected [t0=2013-06-01 00:00:00 - t1=2013-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,407:Temporal inconsistency detected [t0=2013-07-01 00:00:00 - t1=2013-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,517:Temporal inconsistency detected [t0=2013-08-01 00:00:00 - t1=2013-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,628:Temporal inconsistency detected [t0=2013-09-01 00:00:00 - t1=2013-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,790:Temporal inconsistency detected [t0=2013-10-01 00:00:00 - t1=2013-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,901:Temporal inconsistency detected [t0=2013-11-01 00:00:00 - t1=2013-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:11,992:Temporal inconsistency detected [t0=2013-12-01 00:00:00 - t1=2013-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,087:Temporal inconsistency detected [t0=2014-01-01 00:00:00 - t1=2014-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,190:Temporal inconsistency detected [t0=2014-02-01 00:00:00 - t1=2014-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,307:Temporal inconsistency detected [t0=2014-03-01 00:00:00 - t1=2014-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,397:Temporal inconsistency detected [t0=2014-04-01 00:00:00 - t1=2014-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,508:Temporal inconsistency detected [t0=2014-05-01 00:00:00 - t1=2014-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,622:Temporal inconsistency detected [t0=2014-06-01 00:00:00 - t1=2014-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,731:Temporal inconsistency detected [t0=2014-07-01 00:00:00 - t1=2014-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,834:Temporal inconsistency detected [t0=2014-08-01 00:00:00 - t1=2014-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:12,970:Temporal inconsistency detected [t0=2014-09-01 00:00:00 - t1=2014-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,072:Temporal inconsistency detected [t0=2014-10-01 00:00:00 - t1=2014-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,269:Temporal inconsistency detected [t0=2014-11-01 00:00:00 - t1=2014-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,395:Temporal inconsistency detected [t0=2014-12-01 00:00:00 - t1=2014-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,559:Temporal inconsistency detected [t0=2015-01-01 00:00:00 - t1=2015-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,673:Temporal inconsistency detected [t0=2015-02-01 00:00:00 - t1=2015-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,792:Temporal inconsistency detected [t0=2015-03-01 00:00:00 - t1=2015-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:13,902:Temporal inconsistency detected [t0=2015-04-01 00:00:00 - t1=2015-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,042:Temporal inconsistency detected [t0=2015-05-01 00:00:00 - t1=2015-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,182:Temporal inconsistency detected [t0=2015-06-01 00:00:00 - t1=2015-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,300:Temporal inconsistency detected [t0=2015-07-01 00:00:00 - t1=2015-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,417:Temporal inconsistency detected [t0=2015-08-01 00:00:00 - t1=2015-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,550:Temporal inconsistency detected [t0=2015-09-01 00:00:00 - t1=2015-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,678:Temporal inconsistency detected [t0=2015-10-01 00:00:00 - t1=2015-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,802:Temporal inconsistency detected [t0=2015-11-01 00:00:00 - t1=2015-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:14,918:Temporal inconsistency detected [t0=2015-12-01 00:00:00 - t1=2015-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,031:Temporal inconsistency detected [t0=2016-01-01 00:00:00 - t1=2016-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,195:Temporal inconsistency detected [t0=2016-02-01 00:00:00 - t1=2016-02-29 00:00:00] = 2419200.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,355:Temporal inconsistency detected [t0=2016-03-01 00:00:00 - t1=2016-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,473:Temporal inconsistency detected [t0=2016-04-01 00:00:00 - t1=2016-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,614:Temporal inconsistency detected [t0=2016-05-01 00:00:00 - t1=2016-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,738:Temporal inconsistency detected [t0=2016-06-01 00:00:00 - t1=2016-06-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,840:Temporal inconsistency detected [t0=2016-07-01 00:00:00 - t1=2016-07-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:15,953:Temporal inconsistency detected [t0=2016-08-01 00:00:00 - t1=2016-08-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,100:Temporal inconsistency detected [t0=2016-09-01 00:00:00 - t1=2016-09-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,342:Temporal inconsistency detected [t0=2016-10-01 00:00:00 - t1=2016-10-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,444:Temporal inconsistency detected [t0=2016-11-01 00:00:00 - t1=2016-11-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,573:Temporal inconsistency detected [t0=2016-12-01 00:00:00 - t1=2016-12-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,683:Temporal inconsistency detected [t0=2017-01-01 00:00:00 - t1=2017-01-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,793:Temporal inconsistency detected [t0=2017-02-01 00:00:00 - t1=2017-02-28 00:00:00] = 2332800.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:16,930:Temporal inconsistency detected [t0=2017-03-01 00:00:00 - t1=2017-03-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:17,102:Temporal inconsistency detected [t0=2017-04-01 00:00:00 - t1=2017-04-30 00:00:00] = 2505600.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:17,208:Temporal inconsistency detected [t0=2017-05-01 00:00:00 - t1=2017-05-31 00:00:00] = 2592000.0 sec
test05-temporal-consistency:ERROR:2019-12-02 09:46:17,209:Temporal inconsistency found. Check log file for details


